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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

(i1) Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

(itt) Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

(iv) Section C : Question Numbers 27 to 34 comprises of 8 questions of three
marks each.

(v)  Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

(vt)  There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice questions.
Choose the correct option.

1. The number of zeroes for a polynomial p(x) where graph of y = p(x) is
given in Figure-1, is
(A) 3
(B 4
) o0
(D) 5
y
y = p(x)
5 X
Figure-1

[.30/4/1_} 3 P.T.O.



WWW. cbseboardorﬂ%com

2. U GHIGE UL 1 UUYH UE 5 @ 9T AfdH UE 45§ | Al Tt & 1 Iihar
400 81, a1 9aI < &I 3

(A) 20
B) 8
(€ 10
(D) 16
Jran
Teh HHTG It — 15, — 11, -7, ..., 49 1 991 U2 &
(A) 32
B) 0
) 17
(D) 13
3. T mn 2 T fog A1, 2), B0, 0) @1 C(a, b) Wl § | fr=fofiaa geui 7 4
a AT b % 19 T HiA-G7 TaY T 8 ?
(A) a=2b
(B) 2a=b
(C) a+b=0
(D) a-b=0

4. Hfa-2 °, A TP, TQ %5 O et Toreft ga w wi=ht ¢ < vsi-@md 39 wahR
B £ POQ =115° %, A « PTQ ST &

(A) 115°
(B) bB7-5°
(C) bb°
(D) 65°

[30/4/1] 4
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2. The first term of an A.P. 1s 5 and the last term is 45. If the sum of all the
terms is 400, the number of terms is

(A) 20

(B) 8

(C) 10

(D) 16

OR

The 9th term of the A.P. — 15, - 11, -7, ..., 49 is
(A) 32

B 0

) 17

(D) 13

3. It is being given that the points A(1, 2), B(0, 0) and C(a, b) are collinear.
Which of the following relations between a and b is true ?

(A) a=2b
(B) 2a=b
(C) a+b=0
(D) a-b=0

4, In Figure-2, TP and TQ are tangents drawn to the circle with centre at O.
If £ POQ = 115° then £ PTQ is

(A) 115°
(B) b57-5°
(C) bb°
(D) 65°

Figure-2
OR

[.30/4/1_} 5 P.T.O.
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T gd R R ame fog Q & s 7 won e i @ 5 8 2 qun fag Q
Fga s hs A g 8N R | 3w Hl B 2

(A) 39T

(B) 3@

(C) /39 @

(D) 79

5. e cos (10° + 0) = sin 30° &, ol O 1 A &
(A)  50°
(B)  40°
(C) 80°
(D) 20°

6. TF IA H 3 A1, 5 I AT 7 HEG NG & | IW AA H W TH g I AgeoAl
forepren STt 2 | FpTelt T8 TG el A& 8, 3Eehl WRreRar 8

w3
B =
© =
@ 2

7. ifgs Tl y = 070 y = — 6 JH & Th

(A) Sl & ?

(B) g & T4 8

(C) 3IHHFAE

(D) &% w5 (0,008

[.30/4/1 6
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From an external point Q, the length of the tangent to a circle is 5 cm and

the distance of Q from the centre is 8 cm. The radius of the circle is

(A)
(B)
(©)
(D)

39 cm
3 cm

J39 cm

7 em

5. The value of 6 for which cos (10° + 6) = sin 30°, is

(A)
(B)
(©)
(D)

50°
40°
80°
20°

6. A bag contains 3 red, 5 black and 7 white balls. A ball is drawn from the
bag at random. The probability that the ball drawn is not black, is

(A)
(B)
(©)

(D)

(A)
(B)
(©)
(D)

[.30/4/1_}

Sle i

ol

w0

The pair of linear equations y =0 and y = — 6 has

a unique solution
no solution
infinitely many solutions
only solution (0, 0)
7 P.T.O.
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8. Teh S 1 WL YT HTEAeh A 143%15%1%:3@@“?'@["”

(A) 16
(B) 17
C) 18
(D) 13
9. Teoma afiehor x2 — 4x + k = 0% g1 = areafas qat &t afg
A) k=4
B) k>4
(C) k=16
D) k<4

10. fdg A(- 5, 2) q1 fiig B(4, 6) 1 Siie dret Y@nee 1 qed-fiig P(%, 4) 2

‘@’ T U 8
(A) -4
B) 4
(C) -8
(D) -2

g97 G&IT 11 @ 15 7 b €17 9RT |

11. (2+3J5J T T R |

12. ¥H <fifSt T AABC ~ ADEF @ 39 fiysi & g% swus: 81 Atz qun
144 3123 | Afg EF = 24 T 7, @ o1 BC <l Twag ot gt |

13.  fgati (a, b) A1 (—a, - b)% = i gl 2

14. ElﬁtanA:l%, a2 sin A cos A =

15. T 8 At areft arg i T MR 1 i fToeeht 8 M 3R i BIdT e
TR I TR AR e @i R

[.30/4/1 8
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The mean and median of a distribution are 14 and 15 respectively. The
value of mode is

(A) 16
(B) 17
(C) 18
(D) 13

The quadratic equation x2 — 4x + k = 0 has distinct real roots if

(A) k=4

B) k>4
(C) k=16
D) k<4

Point P(%, 4) is the mid-point of the line segment joining the points
A(=5,2) and B(4, 6). The value of ‘a’is

A) -4
B) 4

(C) -8
D) -2

Fill in the blanks in question numbers 11 to 15.

11.

12.

13.

14.

15.

[2 +/5 J .
3 s number.

Let A ABC ~ A DEF and their areas be respectively 81 cm?2 and 144 cm?.
If EF = 24 cm, then length of side BC is cn.

The distance between the points (a, b) and (—a, — b) is
Iftan A =1, then 2 sin A cos A =

A spherical metal ball of radius 8 cm is melted to make 8 smaller
identical balls. The radius of each new ball is cn.

[.30/4/1_} 9 P.T.O.
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o7 &I 16 & 20 F Hrfoifad & w8 e |
16. fean mm 2 & w4, (HCF) (185, 225) = 45, @ &.9. (LCM) (135, 225) FTd
HifsT |

17.  3PA-3 H, F=s] TE § N 8 U 20 Hl. vl wHl, g W Y o @y %
Brex & 94t 7 | If g TR S Y WEH g SR T S0 30° A, 9 @
&1 S8 F1a I |

B
20 1.
30° c
A
3rHla-3
18. T UTEl Sl Ush WY Hehl Al & | SHeh! T TTRiehaT & fob ST 9@l W 314
Tt AT H IR 13 7T 2

19. mﬁwwﬁ%mmm%mmwmm?
20.  3MHfd-4 H, AB A1 CD 39 I gai i Inafes wRid@md & S ueh-gal i fofg
DW WS Hd & | I AB = 8 THI &1, dt CD < &wals 31d HIfSw |
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Answer the following question numbers 16 to 20.

16.

17.

18.

19.

20.

Given that HCF (135, 225) = 45, find the LCM (135, 225).

In Figure-3, a tightly stretched rope of length 20 m is tied from the top of
a vertical pole to the ground. Find the height of the pole if the angle made
by the rope with the ground is 30°.

B

20 m

30°

Figure-3

Two dice are thrown simultaneously. What is the probability that the

sum of the two numbers appearing on the top is 13 ?

After how many decimal places will the decimal representation of the
rational number % terminate ?
2 x5

In Figure-4, AB and CD are common tangents to circles which touch each
other at D. If AB = 8 cm, then find the length of CD.

Figure-4

[.30/4/1_} 11 P.T.O.
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21.

22.

23.

24.
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6x2+11x+8=0
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3Hid-5 4, PQR U wHepiv st 8 f&eht &1 Pawshion 2 | QR W fog M
30 YR feorg 2 7 PM L QR 2 | 2isT f6 PQ2 = QM x QR.

Wﬂfﬂﬁﬁﬁﬁ:

[sin 47°

cos 43°

R

2 cos 30°
|+
cot 30°

HHIA-5

ffeiiad sie 1 sIgere HTd IR

2
J — (sin 6()")2

CUE

0-20

20 - 40

40 - 60

60 - 80

80 -100

ELCIEGIE

10

8

12

16

YT

fFrafafaa dea 9 g 319 hifse

i

500 — 600

600 — 700

700 — 800

800 — 900

900 - 1000

ELCIEGIR

36

32

32

20

30
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SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. Solve forx:
6x2+11x+3=0

22. The perimeters of two similar triangles are 30 cm and 20 cm respectively.
If one side of the first triangle is 9 cm long, find the length of the
corresponding side of the second triangle.

OR

In Figure-5, A PQR is right-angled at P. M is a point on QR such that PM
is perpendicular to QR. Show that PQ2 = QM x QR.
R

Figure-5

23. Evaluate:

mo\2 N2
sm 47 L [ o8 30°) (sin 60°)2
cos 43° cot 30°

24. Find the mode of the following distribution :

Classes : 0-20|20-40 ] 40-60 | 60-80 | 80-100
Frequency : 10 8 12 16 4
OR
From the following distribution, find the median :
Classes : 500 — 600 | 600 — 700 | 700 — 800 | 800 — 900 | 900 — 1000
Frequency : 36 32 32 20 30

[.30/4/1_} 13 P.T.O.
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25. 3TH(A-6 H, HIs T9 Th o % AR H g 08 T Th AP JANNT 7 |
AR WA 1 HaTg 21 Hl. AT YeErhR Wi H @i S=rg 2.8 #l. 7 1 qHi
9T <Al ThEdE B 2 M. B | 39 a9 W S H Fd hAad (canvas) S
T T T | (n= 22 el o)

26. UE T T AT

TS U BTSN HEE o 600 T & feh 2X hu| § § a1 3-8+ 19 9% &
FTW W Ug @ &1 AMEH Fve fhan | T38% W A1 SSRIER TS i
o &t e e | fafte yer & @Y, S e e 9, 98 8

1)  dm-125
(i)  99d — 165
(i)  3HI9 — 50

(iv) Wl < 99 — 150

(v) el o 9" — 110

SEHA-ANIE W, ST ¢ o f7e, Frgesen T Wel ST 7. | 9YH 10
I Y fefafaa gt % 3w e

I+ e e 1 rfafaa g i fiekar w8 2

(i) Wl ol Teh dIGT 3TET oAl 1 Teh qrdl

(i) | =1 dar sterEr dige @1 gt

[.30/4/1 14
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In Figure-6, a tent is in the shape of a cylinder surmounted by a conical
top. The cylindrical part is 2-1 m high and conical part has slant height
2:8 m. Both the parts have same radius 2 m. Find the area of the canvas

used to make the tent. (Use n = %)

2-8 m

2:-1m

Tree Plantation Drive

A Group Housing Society has 600 members, who have their houses in the
campus and decided to hold a Tree Plantation Drive on the occasion of
New Year. Each household was given the choice of planting a sampling of

its choice. The number of different types of saplings planted were :
(1) Neem — 125

(i)  Peepal — 165

(ii1i)  Creepers — 50

(iv)  Fruit plants — 150

(v) Flowering plants — 110

On the opening ceremony, one of the plants is selected randomly for a

prize. After reading the above passage, answer the following questions.
What is the probability that the selected plant is
(1) A fruit plant or a flowering plant ?

(i1)  Either a Neem plant or a Peepal plant ?

[.30/4/1_} 15 P.T.O.
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Que T
Jo7 GE&IT 27 G 34 7% Ycdabh J97 3 37 HT & |
27. fag i i 5 v iy g 2 |

28. U THIG I & JYH 30 UGl h1 ITHA 1920 & | I =1 9e 18 7, @ 3H
THTA S T 119 98 T HIfT |

29. fagadi (3, — 1) 1 (6, 8) I S a7l W@rEe 1 FH-HAIRG i e fegai
% e Fma Hifsre |

HUAT

Igds ABCD =1 &%a ¥id hifvg fames fiifag A1, 2), BQ, 0),
C(4, 0)d9T D(4, 4) T feorg 8 |

30. MHfA-7 H, XY a1 MN, O =3 ot foreft g9 o g1 Tmat woei-t@nd 8 iR
Rl forg C W U% gudl Twi@n AB, XY %1 A @1 MN %1 B R wfesg &l
2 I fag ffSwfs 2 AOB=90°2 |

X p A Y

0O
C

M Q B N

ST I-7
31. Tr=faRea axfietor gm =1 g Sl
2,341 5.4__4
X y X y

31d: 5x — 8y 1 HIF F1d shifoT |

HYAT

[.30/4/1 16



SECTION C

Question numbers 27 to 34 carry 3 marks each.

27. Prove that /5 is an irrational number.

WWW. cbseboardorﬂ%com

28. The sum of the first 30 terms of an A.P. is 1920. If the fourth term is 18,

find its 11t term.

29. Find the co-ordinates of the points of trisection of the line segment

joining the points (3, — 1) and (6, 8).

OR

Find the area of a quadrilateral ABCD having vertices at A(1, 2),

B(1, 0), C(4, 0) and D(4, 4).

30. In Figure-7, XY and MN are two parallel tangents to a circle with centre

O and another tangent AB with point of contact C intersecting XY at A

and MN at B. Prove that £ AOB = 90°.

RS P A Y
0O
C
M Q B N
Figure-7

31. Solve the pair of equations :

2.8 4,5 4,

X Y X Y

Hence, find the value of 5x — 3y.

OR

[.30/4/1_} 17

P.T.O.
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TH TR H CHH o+ WIS H TH HAd Wig % SMfaiEd =elt T gl W R Wi
wfrifora fera Sitar 2 | 10 fopt g8 < forw wret < 75 8 @on 15 forfl gl = forg
T 1108 | F¥a wrer qen uid fpft w1 wrel @ @ 2 31 35 TRl <l gl
TSI T4 hITT |

32. fug Fifsu fe -

sin®—cos®+1 1
cos O+sinO—-1 secOH—-tanod

33. M-8 W, BMIfhd W 1 &FAh @ HIWT, &l Yol 14 FH Id Th
WWOAB%S%O@%T;{W 7 &t Fr=an amen w geflE 9w
e R | (n =?am\/§—1739ﬁneﬁﬁm)

34. 54, 6 T qur 7 wift el At U s i @ Fifvw | R T e
st ft o Aifire Rt o e gt A et A 2 T
Gl
areran
3 ol frsen < e gu W UHY g Tt Wife St 9w 60° % i W g
& |
[.30/4/1 ] 18



32.

33.

34.
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Taxi charges in a city consist of fixed charges and the remaining charges
depend upon the distance travelled. For a journey of 10 km, the charge
paid is ¥ 75 and for a journey of 15 km, the charge paid is ¥ 110. Find
the fixed charge and charges per km. Hence, find the charge of covering a
distance of 35 km.

Prove that :

sin®—cos@+1 1
cos O+sinO—-1 secO—tanod

In Figure-8, find the area of the shaded region where a circular arc of
radius 7 cm has been drawn with vertex O of an equilateral triangle OAB

of side 14 ecm as centre. (Use nn = ? and V3 =1-73)

14 cm B
Figure-8

Construct a triangle with sides 5 cm, 6 cm and 7 em. Now construct
another triangle whose sides are § times the corresponding sides of the

first triangle.

OR

Draw a pair of tangents to a circle of radius 3 cm which are inclined to

each other at an angle of 60°.

[.30/4/1_} 19 P.T.O.
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35.

36.

37.

38.

600 fertft <h gatg aImn A, WUe HEw i 998 ¥ Uk gdTE T8 hl 91 HH H
& M | IEn i SfHa T i 200 TEH/ERT Y @ F HEH % SR ISH H
qug 30 e 5:g T | 3RV H g9 WET i 3NEd =l §id il |

HAUAT

$® Ffdadl § T 9,000 FHF ¥9 ¥ s T | I 20 o R B, A1 TAH
I T 160 FH e | 39 H Ha fohe saferd o 2

fafafga 529 & fau 9 iftess” gerlt siarar 9% difvn | 7% h ggEar 8
S 1 Hieges Y ira hifse |
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ar (R ) : 40 — 44

44 — 48 |48 - 52 |52 - 56 | 56 — 60 | 60 — 64 [ 64 — 68

BHE] h TET 7 12 33 47 20 11 5

afz freht fnm B T e % wH e A ueelt @ AR g w
wftresg 0 & fore weh W ©i=h 9, ot fag Hifse % 3 o @ el s &
e ¥ fawfoa & S €

YT

us THehv S #, fag i foh ol o1 ot ww @ yesti & ot % ATwd
& SO BIAT 8 |

e Higr Temnl U R % UTg dh Sar & | WA % e W wen us s
Teh R I 30° & ITITHT HIV T @Al 8, St foh HFR o 91E hl 3T THEAH
oA W I 7 | 50 Hi. I g T B % A1G, HR H1 IFETHA B0 60° B
ST 2 | HER S S 9 I | (V8 = 1:73 T Hife)

[.30/4/1 20
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SECTION D
Question numbers 35 to 40 carry 4 marks each.

35. In a flight of 600 km, the speed of the aircraft was slowed down due to
bad weather. The average speed of the trip was decreased by 200 km/hr
and thus the time of flight increased by 30 minutes. Find the average

speed of the aircraft originally.
OR

T 9,000 were divided equally among a certain number of persons. Had
there been 20 more persons, each would have got ¥ 160 less. Find the

original number of persons.

36. Draw a ‘more than’ cumulative frequency curve for the following

distribution. Also, find the median from the graph.

Weight
(in kg) :

Number of
7 12 33 47 20 11 5
Students :

40-44 |44 - 48|48 - 52|52 -56 | 56 — 60 | 60 — 64 | 64 — 68

37. If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, then prove that the other two sides are

divided in the same ratio.
OR
In a right-angled triangle, prove that the square of the hypotenuse is

equal to the sum of the squares of the other two sides.

38. A straight highway leads to the foot of a tower. A man standing at the top
of the tower observes a car at an angle of depression of 30°, which is
approaching the foot of the tower with a uniform speed. After covering a
distance of 50 m, the angle of depression of the car becomes 60°. Find the
height of the tower. (Use J3 =17 3).

[.30/4/1_} 21 P.T.O.
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39. THh SW U Gl dled! o gHI S A =l gaeer &l i B shas:
40 Tl 3 20 ¥ & qu1 et H TEE 21 FH R | qedl B AR T4
Fifse | Ty & aedt ® FE § wgFa g1g (o) Fi T = aEea oft 9@
AR 1 (z = 22 s Aifi)

40. WEYG fix) = 2xt + 3x3 - 5x2 — 9x — 3 % G YLAH 3 AU -3 § | 3W WG
o IV Y[k FTd I |
aTera

TRl i aredafass o TRy foen e fguma sEee ss e s wgue
5x2 + 2x — 8 % I % kY & |
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39. A bucket open at the top has top and bottom radii of circular ends as
40 em and 20 cm respectively. Find the volume of the bucket if its depth
is 21 cm. Also find the area of the tin sheet required for making the

bucket. (Use &t = %)

40. Obtain other zeroes of the polynomial
fix)=2x4+3x3-5x2-9x -3
if two of its zeroes are +/3 and — /3.
OR

Without actually calculating the zeroes, form a quadratic polynomial

whose zeroes are reciprocals of the zeroes of the polynomial 5x2 + 2x — 3.

[.30/4/1_} 23



